Name ___________________________________________________
Math 1020, Exam II, Spring 2006

1. a. Find another angle coterminal with 7π/4.

-π/4 or 15π/4
  b. Convert 75º to radians.

5π/12
  c. Convert 7π/15 to degrees.

84º
2. Find the length of circular arc traced out in 5.4 radians if the circle has a diameter of 15.

θr = arclength
5.4*7.5=40.5
3. Find the sine, cosine and tangent values of an angle whose terminal side passes through the point (4, -3).
42+(-3)2=25=52
sin t = y/r = -3/5
cos t = x/r = 4/5
tan t = y/x = -3/4
4. Suppose that cos t = -2/5.  Find sin(4π+t) and tan(4π - t).

22+y2 = 52 → y2 = 21
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I didn’t specify which quadrant, so we don’t really know the sign of either, but only that they should be opposite
5.  Simplify the expression 
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6. Find the amplitude, period and phase shift of g(t) = 97sin(14t + 5).
A=97
b=14, thus period = 2π/b = π/7
c=5, thus phase shift = -c/b = -5/14
7. Find a function of the form Asin(bt + c) which is approximately equivalent to the graph of f(t)= –3sin(2t – 1) + 2cos(2t + 1). 

Graph and find A = 4.8899 ≈ 4.89
b = 2 given from two functions (note that the period = 2π/b = π)
phase shift = either -1.156 or 1.985
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8. Find the secant, cosecant and cotangent value for an angle whose terminal side passes through the point 
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9. Simplify the expression 
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10. Determine if the following equation is an identity by graphing (be careful of your parentheses!!!).  If it is not an identity, sketch the graph you get on the window [-2π, 2π].  If it is, prove it.
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to graph type y1=(1+1/sin(x))/(1/sin(x)) and y2=cos(x)^2/(1-sin(x))
to prove
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Bonus:

Prove the identity: 
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